© 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.

Whole Numbers

AT EX oG (5 2 points = 10 points)

Fill in the circle next to the correct answer.

1. Which of these is the word form for 215,0787

@ two hundred fifteen seventy-eight
two hundred fifteen thousand

@ two hundred fifteen thousand, seventy-eight

@ two hundred thousand fifteen and seventy-eight

2. What is the value of 6 in 563,2097

(A) 600,000 60,000

3. Which of these is the least?

(A) 1,000,000 999,000

©) 600

(© 789987

A, Which of these is 3,000 more than 568,2107?

(A) 868,210 598,210

(© 571,210

Date:

25

Suggested Time:
30 min

D ¢

(D) 99999

(D) 568,510

5. Estimate 5,215 + 2,783 by rounding each number to the

nearest thousand.

(A) 6,000 7,000

(© 8,000

(D) 9,000

Assessments ny




Name: Date:

Write your answer in the space given.

6. a. Write 6,326,508 in word form.

b. Complete to express 4,781,020 in expanded form.

4,781,020 = + 700,000 + 80,000 + 1,000 +

Write >, <, or = ineach Q
7.  a. 354819 Q 354,081 b. 1782356 Q 928,339

Estimate each sum or difference by using front-end estimation
with adjustment.

8. 2,691 + 8,173 + 4,724 9. 7685 — 3,768

Find the rule. Then complete the number pattern.

10. 2,937,045 3,437,145 4,437,345
Rule:
6 Chapter1 Test Prep
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Extended Response (Question 11: 2 points, Question 12: 3 points)

Solve. Show your work.

1. There are 9 passengers in each mini-bus. There are 6,157 mini-buses.
Estimate the total number of passengers.

12.  Mr. James has 8 crates of mangoes. There are 3,548 mangoes in total.
Estimate the number of mangoes in each crate.

© 2009 Marshall Cavendish International (Singapore) Private Limited. Copying is permitted; see page ii.

w






